700

TRS1FERRESNIEGE (FEHSD) (SHIBRINSS3Y8805 )

o~

600 -l

500

300

200 -

100

BR5

3l | H3O
T g | g
B T
2 | 6
600 BEG | 3 |17
BERRAT 4 18
BAEG | S 3
528 521 545 Eih 6 7
513507 495 0 , SETY Bt 7 |10
lllllﬂ%llllllIlllllllllll.lllllllllIIIIIIIIIIIIIIIIIlllllllllllllllllllIIIIIIIllllllllIIl.llllllllllllllll'lllllllllIIl 509.07 EE"ITﬁ 8 14
187 480 473 471 466 . Badi | 9 | 13
g o 450 46 446 439 436 26 §§?fﬁ 10 | 4
- 425 HEE [ 10 | 5
o 405 403 0 BES amg |12 |17
. 403.28
2.2 l--lgsal--l;;gllll--ll-l-----l.n-l.--l-----mwd&aw&&e&akawwwwwww &Efﬁ 13 23
9w 300 365 352 349 Rem | 14 15
s » BESE | 15 | 2
3 BEH | 16 | 16
303 297 297 V7o KWifﬁ 17 2%
275 EMEt | 18 2
REFH | 18 8
BEG | 20 | 19
NE# | 21 | 3
BEd | 21 | 2
XTH | 23 | 8
BRE | 24 | %
ngE | 25 | 2
S&G | 26 | 20
— Emsg | 27 | 27
Wb | 28 | 20
BEG | 29 | 42
BxEm | 0 | 5
= ARl | 31| 32
Mai | 32 | 8
R B = gOf | 33 | 2
= 7 5} ARESS | 34 | 34
[30) % MEERH | 35 | 39
il (i) il g BAE | 35 | 10
A = =AL Iy ~ s =, = Fﬁ ' Fﬁ *T :FE%MH 37 35
w AR SRR - REBIEE - A4R(15045) 2 NARE - EHRERERE(55R) = 4583 FEEE P RH(10045) BEf | 38 | 36
s #iBa BAL 2T 4T (90) m 2£3Es BRI (50H) = #i86 HREER(1355) T
® [E A 1 IR EE(100) 7 BlE2 T—ARA~ILR(505) B EA3 EREEM(255) ﬁgm 3; B
e — . A 40
% [EH4 thig 3% (2548) a8 [EH5 F=FRKE@40H) % EH6 BEMNDELLIME(605) 7@2 B3




6

=)

700

600

560~

400

300

200

100

T3 1R 1%B§%§‘§D§B§%J E(MHND) #HENRRIHEN DRSS
E%N (1$%J’F%;’.‘%7Jﬂ,mz&”@‘880,.“,%,.[‘—?1)

634.15

530353374 531553542

& &
@
I,_%

RONORONVBVVADORLOORADIDNBOD® DD DOOBDBDODBDDOB G
LSS E R S TR NN S 0B EEBE AR AR BN Al e R R DD
ERIBEBEERARTRR =Bl A LB NABES KRB RARE LB DS BB e r e
E%%%EE%%E%%Eﬂ%%%%%ﬁﬁﬁ%ﬁ%ﬁﬁﬁﬁE%ﬁﬁﬁ@@%%%@%ﬁ%ﬁ%?E
RIGE1 RERD - RIS - XSR1500) HB2NARE - WEARERE (552 s HESEMLIM (1005
s iLB4BAT VYT 1T (908R) ,\‘%5§?EHE§ (5082) BB YTRY WY (1358
@5 1 IUAE (1005 SEE2F—SAILR (50 = B 3 EMEA (25:5)

e

B EE 4 1thEEIE (25R) - sEBESE=BRE (40D sEE6EIEN DRGSR (605



